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Solving Sequence

A knot diagranﬂ cl2  c5 1 Tci1 ey ca T cClg0 €4 Cg
Ideals for irreducible componentfbf Xpar
I = (u® — 14u 4 = 2u+ 1)

I={u+1)

* 2 irreducible components of dim¢ = 0, with total 37 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I* = (u®® —14u® + ... —2u+1)

(i) Arc colorings

o= (1)

a7 =

ul —3ut +2u%+1
ub — 2ut + u?
ul® — 8ul” + 26ul® — 40u'3 + 19ut!t + 24u® — 30u” + 9u
ul® — 7ul” + 206t — 27ut3 + 11wt 4+ 13u° — 14u” + 3u® +u
wl® — 6uld + 14wt — 144 + 207 + 6u® — 4u® + 2u
—ul7 4+ 7wt — 19013 4+ 2201 — 300 — 14u” + 6ud + 2ud +u
u?® — 11w+ 4wl +1
7U30 + 12u28 4 8u4 _ u2
—u3? 4+ 13u30 + -+ 2u? + 1
ag = \ —u32 412430 + ... — 8ub — 10u*

(ii) Obstruction class = —1

(iii) Cusp Shapes

= 435 — 56033 + 4u32? + 352u3! — 52430 — 1276u2 + 300u2® + 2804127 — 980u26 —
3340u?® + 1872u* 4 400u?® — 1720u?? + 5108u?! — 588u20 — 6980u'® + 3336u'® +
15440'™ — 290000 + 4732u!° — 552014 — 403203 + 2344012 — 448!t — 840u !0 +
1592u° — 544u8 — 184u” + 268ub — 216u® + 48u* — 24u3 + 12u? + 20u — 2



(iv) u-Polynomials at the component

u-Polynomials at each crossing

Crossings
€1, 7, C11 w3 e 30u—T
Co,C3,Cy U36_24u34+'--+3u2+1
€8, C9
Cs5,C6, C12 1L36—14u34+...+2u+1
c10 u?® — 6u + -+ 272u — 304




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C7,C11 y3% + 39935 + ... — 326y + 49
C2,C3,C4 y36_48y35++6y+1
s, Co
C5,C6, C12 y? —28y%° + -+ 6y +1
c10 Y30 — 2493% + ... + 92000y + 92416




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = 0.050369 + 0.8903881 —18.9058 — 5.93221 9.90521 + 2.845321
u = 0.050369 — 0.8903881 —18.9058 + 5.93221 9.90521 — 2.845321
u = —0.038390 + 0.8742771 10.50350 + 4.445281 9.29426 — 3.931871
u = —0.038390 — 0.8742771 10.50350 — 4.445281 9.29426 + 3.931871
u = 0.015851 4 0.8539371 6.10418 — 1.704051 5.05889 + 3.689151
u = 0.015851 — 0.8539371 6.10418 4 1.704051 5.05889 — 3.689151
U 0.777405 + 0.1852591 11.28280 4+ 0.040411 5.42723 + 0.899251
u= 0.777405 — 0.1852591 11.28280 — 0.040411 5.42723 — 0.899251
u = 1.252890 + 0.0449611 —2.90916 — 0.0841371 | —0.68947 — 1.508951
u = 1.252890 — 0.0449611 —2.90916 + 0.084131 | —0.68947 + 1.508951
u = —1.281930 + 0.1282971 —4.37662 + 2.528561 | —5.94778 — 5.324051
u = —1.281930 — 0.1282971 —4.37662 — 2.528561 | —5.94778 + 5.324051
u = 1.233580 + 0.4359571 16.9206 + 1.19357 6.78229 + 0.459521
U 1.233580 — 0.4359571 16.9206 — 1.19357 6.78229 — 0.459521
u = —1.241030 + 0.4167311 6.78682 + 0.176121 6.07706 + 0.516551
u = —1.241030 — 0.4167311 6.78682 — 0.176121 6.07706 — 0.516551
u = 1.300760 + 0.1815591 —1.26935 — 5.016301 1.24352 + 7.130741
u= 1300760 — 0.1815591 —1.26935 + 5.016301 1.24352 — 7.130741
u = 1.260470 4 0.3938751 2.24673 — 2.771911 1.60426 — 0.445751
u= 1.260470 — 0.393875] 2.24673 4+ 2.771911 1.60426 + 0.445751
u = —1.34160 9.39957 —0.485750
u = —1.286130 + 0.3923731 2.05223 4+ 6.176291 0.87692 — 6.642701
u = —1.286130 — 0.3923731 2.05223 — 6.176291 0.87692 + 6.642701
u = —1.328350 + 0.2097031 7.96118 4+ 6.171011 2.39842 — 5.273621
u = —1.328350 — 0.2097031 7.96118 — 6.171011 2.39842 4 5.273621
u= 0.253274 + 0.5973911 12.89040 — 3.338541 8.26297 4 4.578441
u= 0.253274 — 0.5973911 12.89040 + 3.338541 8.26297 — 4.578441
u= 1304210 4 0.4036221 6.31578 — 9.025411 5.28025 + 6.798091
u= 1304210 — 0.4036221 6.31578 + 9.025411 5.28025 — 6.798091
u = —1.315470 4 0.4119741 16.3071 + 10.59581 6.03260 — 5.517701




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —1.315470 — 0.4119741

16.3071 — 10.59581

6.03260 + 5.517701

u = —0.215467 4 0.5247721

3.39035 + 2.53006.1

8.15428 — 6.426951

u = —0.215467 — 0.5247721

3.39035 — 2.530061

8.15428 + 6.426951

u = —0.487225

1.85818

3.26760

u= 0.172360 + 0.3457251

0.027257 — 0.7901031

0.84818 + 8.671841

u=0.172360 — 0.3457251

0.027257 + 0.7901031

0.84818 — 8.671841




II. I; = ('u,—i— 1>

(i) Arc colorings

1
ar = \0
1
ag = \—1
—1
a2 =\ 0
0
as = \ -1
0
ag = —1
-1
a1 =\ 0
1
ag = \0
—1
az = -1
—1
aip = \—1
1
aq = O
0
ag = \—1
(ii) Obstruction class = —1

(iii) Cusp Shapes =6



(iv) u-Polynomials at the component

u-Polynomials at each crossing

Crossings
C1,Cr,C11 u
C2,C3,C4
C5,C6, C8 u—1
Co, C12
C10 u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C7,C11 Yy
C2,C3,C4
C5,C6, C8 y—1
C9, C10, C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

u = —1.00000 1.64493 6.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C7,C11 U(U36+3U35+"' *307,677)
C2,C3,C4 (u—1)(u36—24u34+-~-—|—3u2+1)
s, Co
C5, Cp, C12 (w—1)(u® — 1403 4 -+ 2u + 1)
c10 (u+ 1) — 6u® + -+ 272u — 304)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
36 35
1,07, €11 y(y>° +39y>° + - - - — 326y + 49)
C2,C3,C4 (y_l)(y36_48y35++6y+1)
€8, C9
36 35
Cs, Cg,C12 (yfl)(y *28y ++6y+1)
c10 (y — 1)(y* — 24y + - + 92000y + 92416)
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